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0000000 e*=cosz+isine 00000000000000O

(1-1) cos(a+ B) = cosacos 5 — sin asin
sin(a + ) = sinaccos § + cos asin

(1-2) cosnx +isinnx = (cosx + isinx)”

00 f(z) 00 flz+y) = f(2)f(y) 00000000

(2-1) f(0)=00000000000 20000 f(z)=0000000000000C0
(2-2) D000 f(0)£00000000000f(0)=1000000000

(2-3) f(z)f(—2)=10000
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000000000000 a+1ib, (6, b000)000000O
(4-1) ™

(4-2) €™

(4-3) €'z
(4-4) >
(4-5) €'c
(4-6) c's
(4-7) e7'5
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30000 2*=100000000

(5-1) z* -1000000020000000000000000000030000000
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(5-2) 2P =1 =¢2 = ¢l = SO0z = 5,65, 000000000000000
a+ib, (¢, b000)00000000000000000O0O00O00OO0O

(5-3) D0D0DO0O0O8OUOD2x*=1080000000000DOO0O



